

course code: Maths 104

Assignment

M. dicire
Amuku

student

Creativeness: Eyangusud

Name

MBBS

Dept.

(9/mhsoi/092)

Matric no:

① $y = 2x^2$ at the point $(1, 2)$

Soln
 $y = 2x^2$

$$m = \frac{dy}{dx} = 4x$$

$$\left. \frac{dy}{dx} \right|_{x=1}$$

$$= 4(1) = 4$$
$$m = 4$$

Equation of tangent

$$x_1 = 1, y_1 = 2$$

$$y - y_1 = m(x - x_1)$$

$$y - 2 = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$$4x - y = 4 - 2$$

$$4x - y = 2$$

$$4x - y - 2 = 0$$

Equation of the normal

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$y-2 = \frac{-1}{4}(x-1)$$

$$y-2 = \frac{-1}{4}(x-1)$$

$$4(y-2) = -1(x-1)$$

$$4y-8 = -x+1$$

$$4y+x = 8+1$$

$$4y+x = 9$$

$$4y+x-9=0$$

$$(2) \quad y = 3x^2 - 2x \quad (2, 8)$$

$$\frac{dy}{dx} = 6x - 2$$

$$\left. \frac{dy}{dx} \right|_{x=2} = 6(2) - 2$$

$$= 12 - 2 = 10$$

$$m = 10$$

Equation of tangent

$$y - y_1 = m(x - x_1)$$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$10x - y = 12$$

$$10x - y - 12 = 0$$

Equation of normal

$$y - y_1 = m(x - x_1)$$

$$y - 8 = \frac{-1}{10}(x - 2)$$

$$10(y - 8) = -1(x - 2)$$

$$10y - 80 = -x + 2$$

$$10y + x = 80 + 2$$

$$10y + x - 82 = 0$$

② $y = \frac{x^3}{2}$ at point $(-1, -1/2)$

$$y = \frac{x^3}{2} = \frac{u}{v}, \quad \frac{dy}{dx} = \frac{u'v - uv'}{v^2}$$
$$= \frac{2 \cdot 3x^2 - x^3 \cdot 0}{2^2}$$

$$y = \frac{6x^2}{4}, \quad \frac{dy}{dx} \Big|_{x=-1} = \frac{6(-1)^2}{4} = \frac{6}{4} = \frac{3}{2}$$

$$m = \frac{3}{2}$$

Equation of tangent

$$y - y_1 = m(x - x_1)$$

$$y + \left(+\frac{1}{2}\right) = \frac{3}{2}(x + (-1))$$

$$y + \frac{1}{2} = \frac{3}{2}(x + 1)$$

$$y + \frac{1}{2} = \frac{3}{2}x + \frac{3}{2}$$

$$\cancel{y + \frac{3}{2}x} = \cancel{\frac{1}{2}}$$

$$y - 3/2x = -\frac{1}{2} + \frac{3}{2}$$

$$\frac{-1+3}{2} = \frac{2}{2} = 1$$

$$y - 3/2x = 1$$

$$y - 3/2x - 1 = 0$$

Equation of normal

$$y - y_1 = \frac{-1}{m} (x - x_1)$$

$$y + 1/2 = \frac{-1}{3/2} (x + 1)$$

$$y + \frac{1}{2} = \frac{-2}{3} (x + 1)$$

$$y + \frac{1}{2} = -\frac{2}{3}x + \frac{2}{3}$$

$$y - \frac{2}{3}x = -\frac{1}{2} + \frac{2}{3}$$

$$\frac{-3+4}{6} = \frac{1}{6}$$

$$y - \frac{2}{3}x - \frac{1}{6} = 0 //$$

④ $y = 1 + x - x^2$ at the point $(-2, -5)$
 $\frac{dy}{dx} = 0 + 1 - 2x$

$$\frac{dy}{dx} \bigg|_{x=-2} = 1 - 2(-2) = 1 + 4$$
$$m = 5$$

Equation of tangent

$$y - y_1 = m(x - x_1)$$

$$y + 5 = 5(x + 2)$$

$$y + 5 = 5x + 10$$

$$y - 5x = -5 + 10$$

$$y - 5x + 5 = 0$$

Equation of normal

$$y - y_1 = \frac{-1}{m}(x - x_1)$$

$$y + 5 = \frac{-1}{5}(x + 2)$$

$$5(y + 5) = -1(x + 2)$$

$$5y + 25 = -x - 2$$

$$5y + x = -25 - 2$$

$$5y + x - 27 = 0 //$$

⑤ $y = 1/x$ at the point $(3, 1/3)$

$$\frac{dy}{dx} = \frac{1}{x} = \frac{1}{\sqrt{v}} = \frac{1}{\sqrt{v}} \cdot \frac{dv}{dx} = \frac{1}{\sqrt{v}} \cdot \frac{dv}{dx}$$

$$= \frac{2x \cdot 0 - 1 \cdot 1}{x^2} = \frac{-1}{x^2}$$

$$\left. \frac{dy}{dx} \right|_{x=3} = \frac{-1}{3^2} = -\frac{1}{9}$$

$$m = -\frac{1}{9} //$$

Equation of tangent

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{3} = -\frac{1}{9}(x - 3)$$

$$y - \frac{1}{3} = -\frac{1}{9}x + \frac{1}{3}$$

$$y + \frac{1}{9}x = \frac{1}{3} + \frac{1}{3}$$

$$y + \frac{1}{9}x - \frac{2}{3} = 0 //$$

Equation of normal

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$y - \frac{1}{3} = -\frac{1}{-\frac{1}{9}}(x - 3)$$

$$y - \frac{1}{3} = 9(x - 3)$$

$$y - \frac{1}{3} = 9x - 27$$

~~$y - \frac{1}{3} = 9x - 27$~~

$$9x - y = 27 - \frac{1}{3}$$

$$\frac{81 - 1}{3} = \frac{80}{3}$$

$$9x - y - \frac{80}{3} = 0 //$$